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a)
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X3 as explained by x"wann

a)

777 20 says that "R" in the mawn is a noun that means 79

b) xwp

i) Presumably
(1) the owax were 1w at anwn n9y which is the beginning of av in the oo in X1y
(2) this proves that 7% is a noun that means day - not night

v17°n as understood by >"wn

i) In "o oowIkm MR 123" the word X is a verb

i) When 71X is used as a verb it means lightening and it refers to the lightening of y2
nn

iii) Proof is that 27 91K 7777° 27 says that "2 °22 078 X¥° 22Ww5" where 210 °22 means
starting at 7n17 12

mooin as explained by x"wann

a)

Based on the P10 in XY

i) It’s more 1anon that the 7% when used as a verb as in 1w owaRm 7R 127 Means
the lightening of anwn mby

il) the x7mx mentions the &7 » of 27 MR 17
(1) not as a &1 to f7i " that 7x as verb means the lightening of i va

(2) But as a separate xn°»n that wherever possible a person should be xxy after y2
ptaish
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1) mooin
a) 1327 were ann to require ynn np>7a and yian w2 because yam is aXia oKX and 3121 are
w>on that 9% RNk ®n97
b) xwp
i) Why are 1127 more w>n for "52°m% xnx 8’177 for ynn than for other nxin *ooK
2) First y1n
a) People aren’t 972 from ynn because it’s not a permanent Mo°X that’s in effect all year
b) xwp
i) Then why is it that a 2°11 doesn’t have to be T2 P72 wine during his ma°m1 »
ii) After all the o113 isn’t “1°n 972 because the 10°x applies only during his m17°r1 °»° and
not all year
c) y™n
i) Even though the 211 isn’t "1 972
(1) Wine is mox only to the 713 himself
(2) and it’s only for an 1R37 MoK that affects everyone that 13127 were 2ann to be wwin
that “537% RN X127
3) X"wann
a) Nwp
i)  Why does m»oin ask this x>wp for =11 in the first place
(1) Wine is nx172 ana to the =
(2) And we’ve established that it’s only for 7X17 *10°% that 1327 are 2 nmn
b) y»n

i) moown refers not to a 7°11 but to a person who by 971 is 7018 something X172
i) Specifically



(1) mooIn asks that the 271 isn’t “1°n 972 because the 271 is only for a specified time
(2) and mooin answers that
(@) even though the 771 isn’t "1 972
(b) the thing that was 17°1 is 10K only to the 271
(c) and the wwn of “52°n% xnx &n>7 applies only to an nx17 MK that’s 70X to all
4) Tqwnn of mooin
a) second y1n
i) oomom are wen for "o5m% XnR ’n97 for yan and not for other 17 100K
ii) Because the 77n was 7°nnn to apply to yan the moox of Xx»® 521 AR 72
b) aoxw
i) There is no 17 of Ix7> 2 for awpi ynn and marwn "y yan
i) Do 1127 still require np>72 and 7302 for nwpi yan and marwn "y ynn
C) mawn

i) a later mwn says 7w for nwpin yan and one TnRT 87 says 7w also for "y ynn
maryn

i) So obviously 1127 were 2 i and said Jmnwa 0K
d) xwp as explained by &"wann
i) Maybe
(1) the mawn by Anw doesn’t mean that ymwn? MOK
(2) and instead
(a) the mawn means that
(i) nwpmn yanand maryn "y ynan are X172 0K even after oo
(ii) so they’re in effect A% W
e) y1nas explained by X"wnnn
i) nwpi yanand mayyn "'y yran are nosa nR IMn
i) So 77w° must imply that 73297 there is a 21372 n21 and JMnwa® 70K
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1) X
a) 27 MR 37 20 MK
1) 222 R¥™M 2 32 OIR 01 2AWH
i) W2 WIRM KR P27 22027 — A1 Nk left ovxn only after MR Ap1an
2) mooin
a) Nwp

i)  Why does 21 R 777 "1 elsewhere derive the same wa7 from 1022 moon woR WR2N K
at night

b) y1n
i) Both o105 are necessary
(1) w2 nnon woR R¥N KXY teaches that
(@) Individuals can be damaged by pp°ma at night
(b) And that’s why they ought not to leave their homes at night

(c) Even though they know the o°nno in the roads in their own city and won’t be
P1°1 by oonno

(2) wo>w owarm R Tpan teaches that

(a) Groups — there were 11 7oy °nx — in a strange city can be damaged by o°nno in
the roads at night

(b) And that’s why they ought not to leave the city at night
(c) Even if they leave as a group that won’t be damaged by 1>
3) X’waan
a) Nwp

i) Why doesn’t m»oin say that no1 warned his brothers to travel by day to avoid nrn
and o°vo*?

b) y1n

i) agroup needn’t worry about o°vo 21 n1°17 at night the same as they needn’t worry
about Ppom
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1) "R e apa Ry

2) "vn
a) 12 x> means the first light of the dawn
b) wnw n91 means sunrise

c) The poo means the dawn (when now there are only the first glimmers of light) will 7ny?
X237 be as bright as the earth is now when the sun rises.

3) mooin (an 1)
a) P2 MK continues until noon
b) The »109 means that sunrise 827 7ny> will be as bright as noon today
4) R"wan
a) Note that
1) For an 11 the 1o is straightforward:
(1) apa xo
(@) like the strong light of mid-day nowadays,
(2) wnw mr
(@) the sun will in the future shine when it first rises
i) While for >"w~ the moo should have been reversed to read this way
(1) wnw nrear
(@) like the light of sunrise nowadays
(2) 2R
(@) the dawn will be bright in the future.
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RIT 21 w7 MPYRT ROP ORI NI YT M O'RT TME RIP NRIN IND 1D NNR 7YY

TP 2 W PR
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1) xm
a) Night begins and day ends at 0°2>15:1 nXx
2) nmooIn
a) ToRw
i) From where does the -2 derive this 7
b) nawn
i) The xmxin :> 77 7% derives this from these o109 in Xy
(1) 22221277 NRY 7Y MW NPYA TORDH DWW NIMIN
(2) 7% 2P MW 797977 17 UM M
3) X in aan noon at o A7
a) The day begins with anwn mby
i) based on the P05 of o1 MRS DPOR RIP7
ii) where the m109 means that 7"2pi used "o " to refer to the first lightening at anwn mby
b) xwp
i) if so 799 qwn> o°phx x7p» would mean n"ap: called the darkening night
ii) and that can’t be because we know that X7 727° 2222107 NRY 7Y
c) y™n

i) infact it’s not from o1 MK 2°poR X1p* that we know that the day begins with m>y
W

il) Instead we know this from the 2>m0» in &1y
4) R"wamn
a) Xwp to mdoIn



5)

6)

7)

i) Note that the X773 in 7923 noon held that the day continues to 021377 nxx even before
it referred to the o109 in XY

i) So it must be that the X3 doesn’t rely on the 2> in X1y to decide that the day
ends at 0°251377 NRY

Twni of msoin
a) PN

1) There is a nvw that 777 " holds that mwnwi 172 begins at ny°pw and lasts for 12
minutes until night begins

b) xwp

i) This time — presumably meaning the end of the 12 minutes — is apparently a nyw"
"79172 before 0°25107 nXy

plivahta

a) Nwp
i) From the end of mwnwn a2 until o°20107 nR¥ there is less than 60 minutes
i) Why does mooin refer to this period as a 7917 nyw

b) y1n

i) Mmoo isn’t P71 and means to say that it’s a long time — not necessarily an hour —
between the end of the 12 minutes and 0°251377 XY

R"w0n
a) y1nto the xowp of H"wann

1) Moo means to ask that the time from mwam npspw until 2222107 NXY is actually an
hour long instead of the 12 minutes that 777> " mentions
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1)

2)

3)

4)

15'"™Y M0 32 'D2 IR IIATTIN A1 PEOR RITT QTN U0 INWR RIPT RO wapw v''wn
Xp
a) Nw™M
i) mn 0P RS
b) xo0
i) 2107 775
XM
a) The xw" teaches that
i) °NRP MWDIRT XTI RN?M T2 RLWD X
(1) w912 197277 1001 RIT XM
b) The &0 teaches that
i) XN2n 79 RpoON XY
(1) w912 7978737 1091 KDY 2130 PIYA T
"1 as explained by &"wann and msoin:
a) 77 xvwo °x refers to others than your father
i) you may Kill these others if you’re certain they would kill you if you resist
b) 9% xpoon & refers to your father
1) You may not kill him if you’re not certain he’d kill you if you resist

A
PN RIT AR | PN DTN 92 N T2 RLWD X
129377 1377 2V aRn NRP NMWDIRT
2130 YR T°axa T2 Xpoon X
192X 103 R Ralplla)
W12

mooin as explained by X"wamn
a) Nwp
i) It follows from the nv>w of >"wn that
(1) Whether or not a person is your father
(2) you may Kill him only if you’re certain he would kill you

11
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PN RIT AR | PN DTN 93 R T2 RLWD R
Akt 13277 9V N7 SRR NIWDIRT
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1228777 1M1 R Xn2>n
1Wwo12
22 TIYa T 278 B INwa W7 RxM
WIRTY NN R T° Rpodn
woia

i) But from a &7m3 in 177710 it’s clear that you may Kill a person other than your father
even if you’re not certain he’d kill you

b) v n
1) This is what the x7»3 means:
(1) The xw™ and the xo°0 both refer to your father
(@) You may kill him if you’re certain
(b) You may not kill him if you’re not certain

(2) But you may kill others even if you’re not certain

moon

10711 RI7T XN T7aRa T2 RLWo R
198777

210 PrYa T T7aRa 77 XpPD0On R

12°%777 1M1 R Nalriral
Wwo12

10O KT IR 27X 95 "Wwa ORT RXMI

Wy 5 RpDOR

12




ANIX "Max 2" T NOXI ntwya ioX T 'nn'kn 2 Th

H9932 RTIDIN 2" 5oy "1 RATI KDY XMV 71O NOR 97 10 MR 7MY nnoNn a''Ta
R 9'"aRTD RAPINR KD W 2IPAT TIT 2PN 22 BOD KA KDY JapR 'Dwnn w''h
H'my 't

B2 5o "D NN D 2" YA DR INNRIEIRY MR 1NN PP "1 1IN AR 1''7a
bYID Do NROXIT 2N AR PITA ROR TSRDR2 OR RDT TV M7 XRpw w7 9.
RIT RARY IR TIAPAT ' 7R 90 DD RS R AR TINN RDR M7 KD ToNDRb
2 IR 1207 0 WPR N7 KD 2HRT RIT RODYR RN2D IRD NN RVYT KPP 710MTD
W'D "D I 1R TR DORY KD PIAD WIRNT ORTY RPN K120 RIWNRT K27 10 MNRpRw

2Ty AR mponnT

1) mwnat.anT
a) Nnp XN
i) PWW PR MEN TV 010D 227V 7oK MWY? ROW AW 2PN
2) muvw of other o>Xin in a mwn at .m1a7:

7ORY7 NPWYA TIOK 7" NN

mxn 19 ke nwa Moy | ampn 2 nbnn
7V M AT TOR 27932 mab . mwn
mxn % n>nnn XY

anpi
WM AT | PIn 70X P92 n"a% .1 mwn
nmxn Yoy
7V M AT 0K 27732 12 V9K
mxn 5% nnnn | RPRR M 2pY
anpi 1777 RXT
MOR 97932 72 THR
W Moyn RIpON? 2Py
177 RI0XT

3) X as explained by mooin and R"wann
a) a7 ' says 7aKRPn IS 10X on 0712 7™ starting at nnnn vl
i) This is consistent with what he says in the table for %7 n>a in 2%
b) 2py> 12 139K ' says the MoK begins MR nywn
1) Inthe xrnk M
(1) The x7nx assumes that
(@) 2py> 12 719K "M by X7 nywn he means ampn 2°% nonnn
(b) the same as 1717 21 the X1k holds in 'R 7y for yan np>72 07
(2) it follows that
(@) 2py> 32 7139 " is consistent with “xnw noa for 59
(b) And probably holds that %71 n>a never disagreed with *xnw n»a
ii) In the x1pon

13



(1) The x7mx says that 2py> 12 21v°9X " by 7R nywn means nws Mbyn the same as 21
X117 holds for mp>72 1 at 'R 7Y

(2) So that 2py> 312 7rw°%x " agrees with none of the o°xin at .71 a7

4) nonn of »"wn and mooin

a)

b)

7!

i) 2py> 12 ror ' and a7 ' and the other o°kan at .73 77 agree with the X»p Xin that we
go 21 1na on whether to do 7ox%n» before mxn on 7"

ii) they also agree the x71n in 777> was to do o892 until nixn

iii) they disagree only on when the x717 not to do 719877 in 9°%3 before mixn starts
mooin as explained by x"wann at °*nox 7"7 says that

1)  Unlike the xnp Rin

ii) Theoxinon.71q7

(1) agree there’s no 371 in 777 or in 2°93 not to do nox%1 before mxn and that in 77
there’s no Mo°X to do 73871 before mxn

(2) they disagree on when in 2°%x an M0k to do ;7ox%» before mxn begins

5) —Twnn of the X7m3 as understood by msoin

a)

Xwp by 2Py 12 MYOR " to AT

i) How can nm ' split the day into pre-ya when ;70x%7 is anwa in 9°93 and after-y1 when
TORDM IS MOR IN P93

i) When nowhere else do we find that different parts of the day have different o°1>7

6) mooin at AryoR "7 as explained by X"wann

a)

b)

d)

mIpa
i) Based on these 05 in XATV:
(1) 2°221277 NRY 7Y MW NYYA TORDHN DWW NIMIN
(2) 78D 2P MW 79977 17 UM MW
i) It’s a mwws that 77 ' generally agrees that oy begins with nws moy
ToRw
i)  Why then does 17717 " say that the oo of 7oX%n n»>wy in 2253 begins at i v
mawn
i) 777 " has a 8720 (that 20931 are 7ox>1? PRYY at 7nnn v1) that supports i v as the
time when the mo°x begins
XOwp to 2Py 12 MYHR

i) 2py 32 v ' himself splits the day for 7%°ox on naw 27y and agrees that o7x 758> &7
aiviiabAlivhtalyiTa

14



e) 71Y1nas explained by X"wAnn
i) For naw 27wa 79°3X there’s a X°%¥n 8120 to split the day
ii) The details of this X*2yn X720 aren’t relevant here

f) xwp

i) Then why doesn’t 2py> 32 21v°%X " split the day for 7o8%» on oo 2y based on the
X120 of n7i

g) Yn
i) 2py 12 1woR " says the X120 of 717 " 0N 7ORYH MWy isn’t a ROYY7 KO0

15
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1)

2)

3)

4)

5)

19"y MWNIDE DRARATS INDIIR 1T DIINM INDIEN 1T
First 7a7pn
a) oo are 1axa for two days and the night between the two days
b) But
i) based on a “first nwa7”
ii) om>w are n9°582 o oX starting with the night after the second day
Second 7P

a) The %93 that 15w 7%°0K% 79°n teaches at a minimum that there’s no 179w while 79°X is
still nann

Third nnTpi

a) A “second nwn7” teaches that 1 of o»ow isn’t A7w1 at night
moaoIn

a) Nwp

i) Since we need the second nwA7 to teach that there’s no 79> W at night — presumably
the second night

i) We’d know even without the first w7 that there’s an 77°2% Mo°k on that night

iii) Because if 7%°0x were then anmn it would be a mw>w» based on the %5 of 77°58% 72°n
19w that there’s then no 79w that night

b) y1n
i) Without the first w27 we’d have thought that
(1) In fact there is no 7%°5% 70X on the second night
(2) And the second w7 is needed to teach that there’s no 79°9w on the third night
X"w1n
a) Nwp

i) Presumably now 7%9°0K8% 72°n also teaches that 9w should follow right away once
270K IS 70K

ii) Now
(1) Since 1%°ox is already ox on the third day presumably there must already have
been 157w on the third day

16



(2) So why would we need the second w7 to teach that there’s no 79°7w on the third
night

b) v
i) The rule of 79w 7%°0K% 72N
(1) sets out only that there can be no 79°7w while 7%°2X is
(2) it doesn’t direct that there must be 79w as SO0N as 772X is MOX

17
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WD AR AP AW T7RRY 2RI DIWHT 1M 10 RO 9o ''72 v'wna [2 Ty A a7
NITY P PWHT DT IMINDD Doy 10 TRRD P AR PWH 2300 NMINIPR IRWRY P
17 B2 MOTY AR YMBR P PWHT 190 777 00D R DAk P TR PWHR 1R BN
ML WD MR NS AT V7T DT RINT YTADD R TN NON 2pyh ' K97 B apwT
957 X277 2"V 27 2MWT 1901 257 2MW MY TN PO 10 P PWHT 25 RN 2"
SRR TS QN2 OPT RHVT ORAP V1T D KM RDWT ORI PH 0TV 1TAY W1 TN
PADRARD JAPDY TR PRWH IPY IN P W02 TINTD 277 2T 2772 TINT 2PIYT RN
"D IRTYT SRR TR STV MMRT IRMIVA PPOMY KM N0 PIRI2 PR KRR A
D ORYTY 30 MR MWD IWOPR NPV 2OPOMY MKW 7T DY "N awa 3" answ
PWH2 IPDY 0PI H2 TIRTD 2N 2R NIDTT DY PINT NI KU WYY MR WD
9201 Q7R PR PNIDN2R JIART RIS TADT 927 12 SRR 1D MK 1T DY whnd WY ORI
71910 952 1952 19 AT TR RDR P PO N2TH PIONI RVY MWDR PRI X7 7w
NOTAD TENTR I AR PIONI ORTI P PWHR MWD WY PWRIT R YRR 1wn ban
TRYD I PWRTT TR YRR IR DA 2P PWHR D PIONI RPY WK PRI '

15! mY w1 PIWDR D 2TRD WIT RWTH T NPIMRWAD 799 PIONIT ORTY 0PI Pwba

5o RO 1D IR RIT WIDR 1D 077 NAWS M1 2noRD SXNAT 23 BY ONY 25900 N2 a''Ta
SDVY TINI2T ORP RIPTY XD WY B'OY "D MWD 2TR WP AR PWH2 WIDRT B
799 ROWPT NP VWD 2PPY IRTIT 0PI QTR PO RDWA PI P ORT VAWK B
NT12727 A'"'7792 "IERT JPUARKT B''Y "UMIND RAY 29N27R 20 700 VR KT DA
"X RDT 12ANOW DI MWD 2TR R NTVRY 720002 KUK IR PR T KD RpRa)
ROR '3 M0 7T PR 2O 10 w70 ONR 1KY KPR 2w 29057 K297 9T Naw anon®
TIZY NAROST Y'Y P02 RWIT 2 RDYD RDITT J1001 RDMA 2w NMIONY 71200977 Y93 95aT

2T R 1277 900 1ARIR 'R PRYART IOM0Y PAYRRA NONR TIT INRT dyab e

1) X
a) Wherever two phrases are 11731 7777 %3 in length the 710 uses the phrase that’s "p1 nwa

b) And wherever one phrase is longer than the other the 7710 uses the phrase that’s Pw>2
P

2) ""wvn
a) noRw
i) Why are there several cases where the 7m0 uses "p 72178
b) v n
1) P13 7WH IR NIAY TR TT0° Py
i) %P W2 1TR2N% QIR MWW TTRPD XPY A1 WD 2500 MINPR IRY
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3) R"wann
a) Presumably
1) "wa means that "pn AR 12 727V 731 8P
i) And
(1) the nmn several times is apyn to use *p11 TR to teach the mawn of °pa
(2) so that we understand to use *p3 where 172°1 777 °2
b) xwp
i) Since the nn prefers aamm qxp

i) The 7mn should have relied on only one case of *p11 711k to teach the importance of
using “p1 NwH where 17101 7777 3

C) y™n
i) Must be that
(1) *"wn means to say that *p1 719% and n1am q¥p are onw
(2) And
(@) Since they’re o"w
(b) the 770 can use *p1 1R more than once
4) nnipn to the qwnn of R"wann
a) N
i) 9977 "np sane N7 0non N 1n
i) (PP IR) 702 PROM PR X'
1) (711 TXpP) ARmIva RPoM R
IV) DRI 2 IR AMARY T2 00021 KR
b) mooinand 1"
i) moownand 1" follow the mvow of the Xk M7 of X"wAmn in >"wA that anam qxp is a7y
i) And they ask
(1) Why is it that 5271 was nawn the first 7mbn
(2) After all it was the second 7n%n who was xpn
iii) y17°n of mooin
(1) 997 was in fact mawn the second 7m%n who was xpn
iv) 1" sets out a different y1°n that R"wnmn says is PinT
5) Twni of X"wAan
a) Xwp

i) For the nvw of the xipon of X"wnn that o onw
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6)

7)

b)

i) Why would 5% praise either 71%n over the other
mawn
i) In fact mooin is correct that 5917 praised the second Ta%n
i) Because
(1) The first 7n%>n may have used >p21 T8 without thought

(2) But the second heard the first and 131902 switched to 731 ¢ to show that the
forms were equivalent

Note that this 7277 also works

i) for 7" who reverses the xo"
(1) the first n%n said nxmwva PPOM
(2) the second said 77mv2 PPOM TR

d) %27 was nvan in the second 7m%n even though both forms are omw

1) The first paid no thought to his mnam 2xp form

ii) but the second namo2 switched to *p11 77k to make the point that the forms are
equivalent

Twnn of the X

a)

b)

XOwp

i) why does the 770 use nao1 which isn’t °p1 instead of nawy which is °p1 and is the
same length as naon

717N
i) nasnis-on and is one mx shorter than nawy

e

a)

b)

c)

d)

Xwp
i) why didn’t the P05 use naw» in its 7on form

aRb

i) The mos uses 1o only when it wants to base a nwa7 on the mon
TR

i) Then what 7wn7 do we derive from the m~von of N2>

n2wn

i) "7amn R 190RY 7R b ownne"

8) H"wnnn as explained by X"wonn

a)

ptay

i) 9"wan follows the nvw in >"wA that from o>71°% on 'R 7y we already know that 2xp
7397 1S better than >p1 R
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b) xwpon-"wvn
i) Why does >"w1 say na>7 is written 1om to teach "naan X1 19°0K1 xR wh ownnw”
i) When we already know from prior o>7v°% that a2 1gp is better than spn ax
c) y™n
1) °"w9 means that n2>1 teaches that
(1) when there is a choice of n213» words
(2) it’s better to use the briefest possible n13n word
9) X’wan
a) xwp to the yyon of H"wann
i) It’s a muwo that it’s best to use the briefest possible 7111 word

i) If anything, it might have been more important to teach that it’s best to use the
briefest possible *p1 word

b) v n

i) naonteaches that nnam 1P is better even for n2>7 and nawy> where the »1p of both
words are 171 7771 °2 and it’s only the 2°n> of the n1an word that’s q¥p

10) mooin at 2°n> N a"7
a) nWwT2 RNR™M KD 2w° 2NDT K 99T N2W AN3°NA7 ¥ RO
b) "vHW INIH QT IMK VYT WY W VI PWITD

11) X"wonn
a) ToRw

i) Does mooin disagree with >"wn and say that there must a 7w27 for a word that’s 2orm
only if it’s the word "awy" that’s “on

b) nawn
i) No
ii) m»ooin means only to prove that the standard form of 2wy is xon

iii) So that a p1oo can use the 1o form only for a 7wn7 — the same as we said for nao>n
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2'ND NadY AT "wN

See x2°71 901 17"7
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2109 ynw n"1n

TIOR 1792 R10DT 121 'y "o axnawbh 290570 Ay 227 n''p Dop prw ''7a 'on
177 8D 2''RT D91 RIT AR PRTI2 PRY 157 "2 PRTIR PR RN DR PR T7arh Wi

1)

2)

3)

4)

Ty R O RY 2TRT AP N27 DY 12 PRTI2 PR 1T R IR PR

X3
a) 17 N2 was p712 after a 370 and found a 7o ynaw
b) xwp

i) "%vnb mann m Ppma PR
e
a) 09 yaw means Moo
nvoIN
a) YR " says 709 yrw means o7 My
b) Because 1"v 127 is 11727 010 the same as Mm»on
R"wN

a) mooin means to explain why the xowp of 7%y maran 1 Pp72 X applies to the nww of
o8 1021 as well as to the qvw of »"wA

b) namely
i) Just as a2yn?y manan 1 pp7a R for moon
(1) Because if the person were a 991

(2) 17 n2 would have discovered this 7105 and wouldn’t have let him do the 772y on
the mam

i) Just so 77vn1 nama M P72 PR for 77 772Y 127
(1) Because if there were a 7177 7172y 127

(2) 17 n2 would have discovered this 7105 and wouldn’t have let him do the 772y on
the mam
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‘P n7Ixn N 17 190 X7 'n ‘na

1D 19257 ORTI2 9 "D MM T 22 "7 LW B "D LRI 38 TR 19T Rp o "R
TR 19727 DY N30 AR Y R oY 10 12w 7aaT 372 KPR 1511 DY 32% 57790 70K XY
2o ' XD D'HRT 1AW AT 32 RDR MOR RDT 957 770 whDR KWW vMo12 2'Ma e

D27 TR RIDIONT 2ND RN RIDI DN RIVIDRT

1) X

a) An axnax told x7°n2a 32 5700 " that the axnar had misled the 07375 into letting him eat
XI19W 9w of nod 2P

b) #°na 32 a7 " told him to ask the o175 to give him the “9x
2) P’wonn
a) Presumably
i) X7°n232 070 "M told the xR
(1) Since they don’t recognize that you’re an nXnIX
(2) Why don’t you ask that they give you the "X that’s 12w r2m
i) And
(1) xn2 72 77170 M intended to alert the 001770 that the person was an xnIR
(2) Because the “9x of a w25 is max°
b) xwp

i) How could the fx» & believe that 77°n2a 32 775 " would advise him to deceive the
01712

il) Surely the nx» % would realize the true intent of 79°n2 32 A7i ™
c) y™n
1) 77°na32 A7 M said to the aknax
(1) They know who you are

(2) They gave you &0 19w because it’s only the “ox that counts as 1aw qr21m and
IS 70K to 7Y 12

(3) Just ask them for the %% and you’ll see they won’t give it to you
i) 77°n232 7700 " thought that
(1) the axnx would believe him that it’s only 12w 972w that’s MoK to a 751 12

(2) and the nxnax would therefore ask for the 99 to prove that the 0°372 hadn’t
recognized him

3) X”wann adds that

a) 77°n2 72 a7 " had reason to think that the fxnax would accept that only 1w an2w is
ToX to a 701 72
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b) Because the nxnax had boasted that o°1770 had let him eat X 9w 9w
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19T
DOVY'I "NXIY A" TNI XN'N DI XnA

BUwamR ansY 9''OY 15 29027 RIDRM PITAI MRND PROTRR P NS aw [R Ty 7 a7
"% H'"OP "5 JAMI 27 MR RIDIM 172 1D 2N2Y 2ONDTD PRITPR PIMT N 7T A
MIDT RITY TR PIYD 79 HIDITD NI KON 2TNANRM ROT NP0 KD 017 B ROT NN
MBOINT NORAPD 2R PRI AT N0TR 3T 0''OY 10 MR RN20% RUDRR X3 T

12'NTY QTR R 2ITOT RPN ROT MINRD YRR DT

B'op "D IR O RDT 2170 923 29007 ") 2sw 1o AN A 2Dw R 7''7a
QM) NI 2ODWT RDT FITIPYD 1A 9 51T IR IRDT 21 N 29057 RDT mmh X297
RO YRR ORR D''RT T O RDT 23 DY OR MINNRT XRYY [IRD2 PR 0197] (IRDT
IND OR NI 2IDWT AR 197 ORTY T2 PURNAT 217027 JPRWNR 'Y KON 21707 2swNT
2N 290w KD o9 DD T9IT 771977 KD 72 DY INRR 797 KD RT 77002 O"RWR YT T

2H''PY RUDRM PN T KD QT NI W AN

1) mwn
a) YhananR PRTI2 WY IYaIRD IR

2) XM
a) There are two mxo7 in the X
7""17 RO %Y 77°7 X073 °9Y
wa P17 wa P17
DI 1WA Q12 N7 PRTRH PO RPN O XA PRTPR 7T RN D)

ROR 779°19 W2 1910 017 92 RN N w2
TP122 QRNAR QOWN MR INXAY PRYTRR I
RIDX7 P72°17 °30 MY 93 127 X12017 "Wpon WA Hv 1MW 01°2) 2°N5T RIDXA 17T WP
T ROR 79717 W2 1910 a1 9 XM N
92122 D7AR DOWM ARIW NINXAY PRYTPN

3) nmooin as explained by X"wann at xnen o1 A"y
a) First TP
i) For our X0
(1) The &n>>1a proves from 7% and 92122 o2k 0w that NIXn oo TpPn T
(2) And also derives from 22122 o72x oW that &79%» M7 is enough
ii) For the xo1x of 7"

(1) The xn»1a derives from both 7% and 17122 onnar aow» only that oo 7Pl 1107
mno

(2) And the & ma then asks &720n that ma1 is enough &153n
b) Second nnTpn
i) The oo "p122 oinar oown" appears twice

26



(1) First for o170 where o77ax was > ®x and not for a mxn
(2) And then for the n7py where o71ax was xx1 for a mg» and not *m»

i) It’s 7anon that the X3 here refers to the oowy of o170 because this aow happened
first

C) ®wp to our X073 as explained by X"wAin at knn 001 "7
i) Partl
(1) The x7nax in P2 derives from 1707 0ow that 7%°92 >7°m° XY° XD o1 707N

(2) this 17 applies only to a person for whom there’s a wwn of P11 because he’s Xy
*7r and not for a mxn 127

il) part2
(1) it follows that as far as concerns 01707 2ow™
(2) it’s possible that m1>1 begins xn7xn for a person
(@) who’s &x» for a mxn 727 so that PP R MLn smow
(b) or who’s not > RXY
4) R"waan at &nen oo a7
a) Note that
1) this &wp doesn’t apply for the xo3 of 7"
ii) because the xo7x of 7"1 doesn’t rely on 01707 22w to teach that x19xn is enough
5) Twnn of maoin
a) y™n

i) Our x7mx in fact relies on 77py7 Dow» where the 197 of 7%°%2 *7m° k¥ X% doesn’t apply
both because 1111 11°R mxn sm>w and because o77ax wasn’t *7m° XX

6) X"wn at 0ow MR "7
a) Nwp to the X in PoIn
i) Maybe
(1) A oon 7nnis 72292 >7m ®YY if he’s W% R¥ and doesn’t want to go RnTk»

(2) And the reason that annax wasn’t °>wn earlier in 2170 is because in fact he was
11%¥9% X¥ and didn’t want to go Xn7IX»

i) Here’s proof

(1) although ainax for the mxn of the 77py was X193 1711 because he was nmxn to be
Rab)salimira

(2) still
(a) he wasn’t ixn to be 1 before x1ox
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(b) And in fact since there was no 21n to go Xnmx» he decided %972 not to leave
XNTIRN

b) v
i) Then we’d derive nothing from 01707 0ow™
i) Must be that
(1) Although

(@) where a person goes mxn» ow> we expect that he’ll be i only to the extent of
the mxn

(b) Since if there were no mx» he’d have no 1% to go altogether
(2) still
(&) Where there’s no mx» and the reason he goes at all is that this is 121¥9

(b) He’d leave as soon as possible — even xnmxn — if not for the 17 that a 7%
0o isn’t 719792 27 RYY
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D" NAxN 2" TN

SRTY D''OY "D NANR T2 IR M2 297 ROANT D 1O "2 B'R 2P Rar 1''Ta 'on
TTRY DRY 7MWRT NAR T2Y IR M2 T WIS TN TIRVTR R 1 V'wanh
TR T KD WD 7' NOTIAD KUK MM VAR MR 20 DR MR AR by wenT
29 5w AR HY 1B 2907 1T RO 020 DR AR DY DRWW KUK "D N 2 7T w0 e
2RNTIDDY YN NN R 295077 AR DaAR N RI M DR AR ban mn yhanwbh
TIPT IR 7 DY 120 MY YUY RO 2P RPN 2D TIRNIR NI NS 1answ

TR'NTY STINAN T2Y IR 2 TITT W TIRDAT TIRNT 720 72972 197 RaR RaN JaRy W

1) xama

a) "“NhR 921 8™ M7 TR 0220

b) The table sets out m2wn by 27 to nYoxw from x> '™

20w57 20 BRW RO | XM7Y 2w an 295 BRW XM " 5 9m RURIPA
n“P
TMWI RY T P RIOR | DX NORW XD ORPR | MK 27 93R) 1278 177212 107 72D AR
7P 127K OX 27 %W oK) NN 207p (X1 "9
X™1 ' 127 3] (X1 "1 MM
10 03 12K WX ' a0 ar] nvp
[nn 127K WK X7
[nn
X2] Inn»p R | MPOARRAR M) RAR | XO0 M IR KA o°90 MR

R WY X
o°p (12°R) RaK
XM7Y Y0 Row
IR RAX ' WR
XIp 27 WwR 7P
'9) 19w AR 2R
["RaR" (RAX

207p (XN

5aR 107 720 1R
TIRY 27 °2K) 127K
ax) KXY (X1
(X171 " mnXY 20

MM

MR 27 OX) "°R
RV Inn»p (R0 "9
VY RAW 27 wwn
MR WK X7 M
YR K™ MY

' bW aR) XX
Mp (X117

12™p (127°K) XX
RAW 27 WWn R
WK X110 M OYY?
X7 ' 2R RAR

vap

973K KX ™) KX
207p (XN

X7 ' 7R RAX M
5aR 107 720 1R
MR RIRY 127K

5RIM 102

2) mooin

a) xwp (see x"wann below)

i) For om0 n°k we understand why the x7n3 sets out the family relationship between ™

x»7 and 21

(1) Namely to explain why 21 was wwin that

(a) if he answered that "o>>p Xax" intending to mean that 12>°x was o°°p

(b) x»r 'y might have thought that

(1) 217 meant that the person who was o> was Rnx " the father of x>»n "
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(if) And 21 called him "xar" because it’s common for a grandson to call his
grandfather "xax"

i) But for >"wn why is the family relation relevant
3) X"wann
a) Nwp
i) for >"wn the family relationship is relevant to explain that

(1) the reason that x> " asked about 12>« the father of 21 was that 12>°x was also the
brother of x> n "

(2) And the reason that x»»11 ' asked about x»>x the mother of 27 was that x»°x was
also the sister of x»n '

b) v n
i) mooin doesn’t mean to ask that for s"'w= the family relationship isn’t important
i) Instead mooin asks that
(1) for ®x1am 13937 the family relationship wasn’t important
(2) Because under the muw of Hxm 11021
(a) each time x»n1 ' asked about one person
(b) 21 answered about another person to imply that the first person wasn’t 0*p
(c) And the other person could just as well have been a non-relative
4) qwnn of X"wamn
a) Note by the way that

i) the o0 n°k to which maoin refers is basically the "k w" that >"wa mentions as
explained in more detail by msoin
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)21 eV e )

5oy "2 IR 77 RYT 2170 923 29N57 "3 2SR o1 anm A 2o anNIw 'l
QM NV DIDRT RDT ITIPYR WD 9 07 IR INDT 2R NI 2DWT KOT 1M RO
S"Y KPR 21707 2OWNT R UYRARK IR D''RT YT 177 K97 23 DY N TIZNT RAYY INDT
SRR T ST IRD OR NV 2DWT 2TMAR 0T ORTY IO PRRRT 217027 JWRWN
NN TINTR AR AN QDR KD 7991 DR 9T M RD D DY NIRRT KD IRT 7OpPYa

1H'"PY RIDIR PN 7T KD 2T
See ®n*n o1 A"t
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qonvwn DX A" TN

1799 1DRITT DR DOV 1D WY P RDY FNDAT W 0RW X277 1D 0Rwn an 17''7a
DaR R17 RWIWST RNPAT 12 19 0ARM AR MINAY TUINR KD PUITAT PO N92 9NRT

H'"RY WY PR YIMRT ROKR 30 B RD 1"

1) X

2)

3)

3)
b)

c)

17°3m% N7 WA
WY AYAIR 21 NINNon 19 N0Awn OX
P172% oW oY

mooin (as explained by X"wAnn):

a)

b)

d)

First 7a7pn

i) The 20w needs to be pma if he makes an effective 1°1p

Second 7P

i) mnnon n7°on isn’t an effective 1ap

The xna teaches that

i) Even if P &% meaning even if the 15w made no effective 1ip

i) the 72w nevertheless must do the fp>72 after mnnon n°on because the mnnsn nYon
gives him access to the n»a

in short
i) the 1ow needs to be p7a if either there is an effective 1°1p or there is mnnon nvon

X"wAnn

a)

b)

1"1 agrees with mooin that

1) mnnon n7°on isn’t an effective 1ap

ii) but mnnon n7von still forces np>7a because it gives the 10w access to the n»a
But " disagrees with msoin and says that

i) If there’s no mnnon n7°on there’s no nP°72 even if there’s an effective 7°1p
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T T

I7 TNINT y"an1 ‘'na

132972 327 3TN 112 OIT 2T AR PIT2 RDT 19 pIMIRT YA RS [2 7w 7 a7
712772 3320 ATIRYTT MOMAD Y2 RY 12 NN RRVWR TR OITT TIMR WK TMDT DY
BaR R AR R K7 0177 70RK 2R KOKR ARPTD 2172 NP PRT PR vwwdn O''RT
"pa oD RPIRT 2190 1R VWD KDY 2172 RDT 30 PITIAT IOKRT 79 JORPINT RNWT

TH''PY 2172 RDT 70 PITIAT 2R NITT TORN

1) X

2)

3)

4)

a)

17 ROVINR
1) Wy IvaIR217°2n° N°2 ano Ownn
i) PY72I0PI0 PROR D172 0PN

Xn*172

a)
b)

0°0P 12°OK 0°72Y 12°5KR DPW1 179DK Y1 Y2 DY PIaR1 957

And it doesn’t matter that these persons aren’t w2 o>7v

X722

a)

b)

The %73 wants to be vw1o the X°y2°x from the &n»12 by saying that the xn»92 deals with
n°aono

but the 713 has these nvunp:
i) If np2anois P72 npina
(1) Why do we need to rely on 177 771K
i) If P2 anoisn’t P172 NpIna
(1) How can we rely on °1777 77°nR who aren’t 2w 2>y

The &7n3 is poon that the Xn*92 can’t be vw1d the X°¥2°X in any case because it’s possible
that the & n3 deals

i) notwith n"2ano

ii) but with where P72 X5w n°277 5v22 17 prmin and the o°1wp WX 0°72v 0w say that they
themselves were P72 the n»a

iii) and they’re P1aR1 because once there was 212 the 2vn to be pma is only 11277 and
112772 1220 1700

X"wAnn

a)

WP
i) Why can’t the X7n3 say that
(1) the xn»72 deals with n*2 ano and holds that n°2 anod isn’t P172 NPIN2
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b)

(2) and we rely on the 77nx that the 2"nva did the 7>°72 because 132772 3327 yaRn
where there was prior 71122

laRb
i) In fact the xn>>12 might be dealing with this case

i) But there’s no proof that the xn>12 deals with this case and that n°a ano isn’t npma
P72

i) Since it’s possible that
(1) a2 ano is P72 NpIna
(2) the xn» 2 deals with a n»a that’s P172 1°RW 12 P
(3) And
(a) Because there was prior 712 and 1312772 1327 ¥R

(b) the xn>12 relies on °1777 77°2K to decide that °27 had been p7a themselves
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IN"AYN [IYXIN DI'2 X 2Nl n"Tn

RTIDIN IIRY KON 1DWH 23007 MX KDY RIT 779027 002N RIT "D 212 N 20001 171" 72
NYWR RO NN V'IRT KT 0230 3P0 N''NST MWW 8D 7 BN RWIPT T RO "o
"D W NBAN2 T MY NYRA KRR 7DIWA RAT DR JARD D 2w Bar "o 1mpa
1I7TT INIRWN PWRTT 272 IN MWRP PR 2RI M27 D22 I0nawsT 12 1M nywa ban

1217 DI N9 NT NYWAT VIR NIRRT DN 1van

1) First nnTpn
a) o°pod
i) 02°N22 R¥M K7 NRW 2 NYaY
il) NPawn PRI ara IR
2) Second TP
a) mwn at.x>A7and X at 20 a7
i) "M
(1) yya nywa Row
(@) 7w ROR pan MY PR
(2) M2 nywa
(@) 727 922 nnawn
3) Third anTpn
a) ""wvn
i) 1My nywa Xow means a time before it’s 7ox to be yan nnwn

ii) It follows that for 777> "3 the 17 that "9 w Xo& yan w02 pR" applies only before it’s
70K to be ynn anwn

b) anran
i) 1Mwa nywa RO means a time after it’s 7ox to be ynan aawn

ii) It follows that for 77177° " the 17 that "9°w X9& yrn w2 X" applies only after it’s
70K to be ynn anwn

4) Fourth mnpn

a) Both"wn and on 1021 agree that "noawn" in the P05 "invawn Pwrn ara X" deals with a
7van of now

b) It follows that
i) For"wn the oo applies "ok a1 *195" before it’s MoOR to be ynn mnwn
ii) For on 121 the poo applies "ooR ya1 x> after it’s Mox to be ynn anwn
5) X
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6)

7)

a) oRw

i) It’s a mwwo that it’s MoX to be ynn 7wn starting with j0°11"0

i) But how do we know that it’s TOK to be y»n nnwn starting earlier on j0°1 7™
b) n2wn of »ax as explained by *"wn

i) We’ve established that yn°awn w17 12 & applies 1Mook a1 *19% so this p10o can’t
apply in the seven days beginning with j0°11"0

i) So it must be that \n°awn wxa7 012 means “the day before” 10°11"0
maon
a) Xwp
i) "MTI0K MK ROX 1DMWH 257 M KO
R"wIN
a) Mmoo means to ask that
i) the 72 of >"wn doesn’t work for the mv*w of an 1027

i) Because we’ve established for on 127 that "nvawn wka ara R" deals with after jar
1M0°r and so can apply after the beginning of v"v
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770 X 2" T "M'wnl DY xntv " Tn

200w 7Y DR TR n Y BMop "2 2900 212 MR 2T o manh RBINY ''Ta
RVURIPT 2" By "3 MINW 290 NPaAR NVRT RIPD TAT KD "D WPAKRT Iwn 2 W

TP'NTY 3ARRT RROPT RIT IS NN ROP ORTT RIP N7 ¥R RWPITY IR RI7

By "D NIRRT P2 PRWRTT 22 MY RDOR IR IRD ORT "D pha IR 772 '
7' BB RPINY TR ONOR TV vYRh aPaT awaT 0 "B R nv ORT wed p''e
RDY PR 2197 MWRRIT P2 M1 WIPROR DR 7T uynn adaT v NOR ORI 9D 0T

IP1ITY 2R Y HIPH JARTD RIDIM KA RDT RON IN TOWIN

1) xama

2)

3)

a)
b)

c)

d)

"03°N27 MIRY NP2WN PRI v IR
TORY

i) How do we know that the 2vn of 1n*awn applies at the latest when 1"v 9% begins and
that it’s "ox to be ynn wn at the latest when 1"v 5°% begins

n2wn

i) The pos that "7in7531 N¥nAn 921X 95 %3 03°N22 R¥N® K7 NRW 2°0° nyaw" is wpn nnawn"
"RWw to "ynn nor"

i) The poo that "nx» 2oK8N D2°*MAawIn 922192980 K7 nxann 93" inturn is wopn "ynn noooxR"
to "nxn noR"

iii) men n°ox applies at night because of the p1oo "nixn Y9a8n 27v2"
iv) And it follows that 23w nnaw: also applies from 1"v 2°% n%nn
TR

i) How do we know that the 21> of =W nnaw: and the Mok to be ynan anwn are on
earlier at the end of myw ww on 7™

n2wn of »ax as explained by *"wn

a)
b)

"02°N22 K XY XY 01 nyaw" teaches that yan needs to be nawn for seven days
so it must be that "n awn pwrn1 ora Ix" teaches that nawn needs to be done on ™

Twnn of the Xna

a)

b)

First x°wp to »ax

i) Maybe nwxn7 a2 & teach only that y»n needs to be nawn no later than the end of
"0 9%

717°n to the first xowp

i) We already know from the wp>n7 that y»n must be nawn as soon as 1"v 2°% begins
Second Xwp to »aR

i) "% 7™ % mMaad kR
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i) maybe the poo teaches that the 71372 needs to be done before the end of 7" 9%
d) yrn
1) 2°n>orato teach that it’s enough to be n*awn during the daytime
e) Nwp
1) Maybe the ™2 needs to be done x15%» on 7"
f) yrn
i) PR
4) mooin
a) First xwp to »ax
i)  When the xn3 asked in its first x°wp that "w°2% 1" 9°% M7 xRy
i) Why didn’t the X2 answer that "2°n> 012"

iii) The same as the x7nx answers "2°n2 012" to the second X>wp to »ax that maa? XK
"yah 7" 9

5) %"wann
a) y™n
i) In the first x>wp of the X n3 to >>ax that "13°2% "0 9°% M127% RRY"

(1) Even without the mos of 1n*awn pwxnT a2 & we already know that y»n must be
nawm at least during the daytime on the 15™

(2) That’s why it can’t be that W27 01°2 & teaches that it’s enough to be n*awn
during the daytime

ii) But when the x7nx in its second & wp asks "w°2% 7" 9% M7 xR

(1) The only way we know that there’s an ™0°k even in the day on 7" is from ava &
ANAWN NWRAA

(2) So

(a) When the x1n3 asks maybe the 105 goes so far as to include the end of the
night in the Mo

(b) The yy°n of "2°n> 012" properly answers that
(i) Since without the 05 you wouldn’t know an m10°x even for daytime

(ii) It’s possible that the 2109 teaches that it’s enough to be n*awn during the
daytime of 7"

6) 7awn of *or "

a) "&"is then pom and teaches that it’s a0 to be ynn anwn for part of the day that the oo
calls wxA

b) Now
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i) This "nwra" can’t be 10°11"v because we know from the wp»1 that the nnawn must be
made no later than the beginning of 1"v 9

i) So it must be that the day that the o» calls "Pwya" is j0°1 7™
7) "wn
a) Nwp
i) Even if the poo didn’t say " X"

i) we’d know that WX can’t be j0°11"v since the wp>n teaches that the nnawn must be
made no later than the beginning of 1"v 9%

b) v n
i) If we were to rely only on the wp i we might have said that
(1) the nnaw: can be done at mwnwi 12 at the start of 1"'v
(2) and that to be ynn aawn into mwnwi 1°2 doesn’t count as yan naw into 1" 90
ii) that’s why p%n X is needed
(1) to teach that there can be actual y»n n>>nw into the day the that p1oo calls "pwxa"
(2) so that it must be that pwxa is 7™
8) X"wann
a) Nwp
i) Two1amn

(1) If »ov " doesn’t follow the v w of »»ax that 012 proves that it’s enough to be
vnn nvawn during the daytime of 7"

(@) Then
(i) even once the oo says "x"

(if) "7" 9% ma1% xK" maybe the oo teaches that the m1v°2 needs to be done
before the night of 7" ends

(2) If "o " does follow the fw w of »»ax and o2 proves that the final time of 7naw: is
during the daytime

(a) We’d have this ®*wp

(i) How could we have said the final time for mnawn is mwnwi 12 that isn’t
daytime

(b) and it follows that
(i) contrary to *"wn

(ii) it must be that *ov " relies on need & only to teach that we’re porn the
daytime of 7" so that nnaw: needn’t be done X19¥»

9) mooin
a) We established for >"w~ that
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i) ov " relies on the wp1 to teach that the ymo°x a1 of yan lasts a full seven days

ii) »ax also needs to rely on this wp>i1 anyway to explain why nwxi1 01°2 % isn’t needed
to teach that yan must have been nawya before the end of 1"v

b) xwp
i) why does »ax need "0>°n22 R¥» RS MXW 270 nyaw" at all
10) X"wann at Mm% xaXY "7
a) y™n

i) The oo of o> nyaw is needed because it’s that P105 that’s the basis of the wp>7 of
ym to m¥n
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N Q7T

ynn 7u onUn X% XdNn 1K X217 D ynun XxvnT [IYNY K PNX' 12 RNl 20 'na
xynw! " T AN A"TN TYVIM Y 171N 'oiyn? 2a"Tni 'n

RY RD7772 AR K27 12 YRwR RIPOYRT PWRT MR PSS T2 301 27 XM [R Ty 77|
"3 TIRDRTT 2192 IR K2 WD DY 2ARRT IR DR 290757 W 2 v "o unwen
IN A 2T PWRIT VAR PR RIPIY QTP WIIHY "7 0150 R PWRI MNP v'YR
P 2 2'97 ER R Y Do "5 A BY umn KD 1 7R ' B PIRT KUK WK
nhR J39PDR I R A VAN RDT RO IND ORY A URwn XD R297 AT 00 DN Bl
92 A1 27 R27 RPN 291921 WTIP ROPR2 929N0T7 PWRIT TN 95T ONpRARNn PRNRAT
DaR A QTR PRT D MPRRE PWRTT WD TN VAN KDT WA 5D M PN
D JYRRRR NI PIDRY FTDNT 12 NODT PIWRTT 01T DO RTIADN TOND NP WP R 2N
PWRAT 37 927 92 1''97 KT NS DR R2IT DR XU DY nawn N2 RN
PWRTT 2 RAPIPR DD owRwnn 9% PIDRT INRWN JIRTT Y28 KOR 17 wRn R

19! mY A UIRN RY 23007 ORTP MIMNAT 1T " 27N

B'"oy TN 2 KON 719772 DU IOKR 2MHT ORP WIONINR 2w swvnd 3'"72 'on
RPT RDID2 2502 M1 29927 ORP UIIINR 21 PWRI IV DY 00M 1" R0 1R
T'"mY A 29OTRR ' 010D anmaen

"D WTIP RPR2 92ONDT LTAT RN2ANDAT "D R2AW 923007 23 BY N ' 027 unTs 1''7a
WK 'TOTYM TON 772 DMINRR IR NwNs2 WTIP ROPR 'S v2on3T ‘A i B h''oy
2979 NPOU NISWT D3N NNYARN MODT RAT NRNAR WM A WTIR ORTPR amN NP
IODT BAT NNYAWA PPAYARE TUID RDT RN 95772 PAYRRA 179 NRY RDWND 72 22N0T
NP SN ") AW 2Y2Y WIP RIPR PWRTT 2192 29057 K2 '52 29007 NpDT XpR
STRNT TR RIPOAY DR RVIIT 2WR 200 T IR RIPR PRI 2192 NN 'Da naT
TINA TR 2NDT D 2R KDY K2 NWADT RO KUV VIR RPN D2 929N07 PR AT
'3 NS AN RDOWT MR DT RIP MINRD 7D RAOIT 2B WO T ODT DAY nnvawT
"D 70 1" RDIN NIAT HODT DA NNSAWR K2 'DT RIP ORI 30 PR 1R "D 4y nowm
ARDT RO NR RY ORBR A INAW PWRIT 2192 NORT NISWT BA0 nntawa PR wn
N0 119 MWD R2OW M1 AN "3 NORDM DD WTIP ROPR PRI 2172 79DI3 RAWAD T2
2T D
1) X
a) ToRw
i)  Why is "%y myw wwn X087 70K yan' on 7™
b) n2wn of pry> 12 yam1 2N
i) inthe P05 "0>°nan MRW IN°2AWN NWRIT 212 IR
i) "Pwxl"

(1) doesn’t have its usual meaning of “first”
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(2) but instead "ynwn P w7 PRI — NWwRY means the-day-before
(3) As in the p109: 7230 QTR NWRAI
c) wwp

i) Then why does Pwxa7 in "Pwxa7 a2 0d% annp?" for 2912 in MR nwos have its usual
meaning of “first” rather than “the-day-before”

d) yrn

i) the p1oo on 275 ends "o nYaw 02°PoR "7 0197 anmawn" to teach that syaw syaw n"
"N PWRI NWRI AR A7

e) Nwp

i) Butnoawn pwrnn ora x for yan also ends with oon° nyaw namely Y9280 oon nyaw"
"mxn

f) yrrn
i) the po»s for ynn says wrAT instead of PwRA
il) and it’s only 1wy that means the-day-before
g) xwp
i) But the oo for 2717 also says wxn
2) nmooIn
a) y™n

1) the x7m3 asks a similar x*wp for the word w7 that appears for 71210 nnaw in nwAd
MNR

i) And the x23 is yann that
(1) nwxaais needed to be 1510 nnvaw vy for v YW N
(2) because
(a) otherwise we might have thought that 71210 nn>aw applies to 737
(b) based on a 1" that’s WX Py 5¥ 7°0M

iii) The same yy7°n applies to 2719 because for 2717 there is also a 1" that might have
been read to require 2712 n?°v1 also on ¥ N

3) Twnn of the X
a) Two nvwip

i) the poo should have written neither the 1" nor the "7 for both 2% nv1in nwAs
MR and 7210 NP in MR DYId

i) and how do you explain the pwxra in MR nwns for nos nnvaw where there is no 1"
b) v n
i) These three >0 in MR NwAd
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(1) 27>
(2) now npaw
(3) noo npvawn
ii) use nwxn7 for the purposes of Pxynw» "1 °27 Xi1n whose precise 77 isn’t relevant here

iii) But the pwx7 of w7 12 8 isn’t necessary for DRy " °27 Xin and remains
available for the nwo7 of pr¥> 92 M1 20

4) mpooin at XinT> "7 as explained by X"wann

5)

a)

b)

d)

First xowp

1) There are many oo of w7p *Rapn in Ak nwad and elsewhere that use the word
TR

i) Why does xynw» "3 °27 X1n use only the o°p109 in 2wk nwHs on 271% and M50 nN°aw
and nod nnoaw

laRit
i) All of the other o>p109 also relate in some way to 2217 n11¥» Or 7210 NN°aw Or [oD NN°Aw
i) And all 2’05 that relate to any one mx» together count as one
Second Rwp
i)  Why does xynw» " °27 Xin say that
(1) The three o>p105 we mentioned count towards the w7 of SXvnaw» ' °27 Xin
(2) While pwxni 012 1 for ynn isn’t counted towards the 7wn7
717N
i) The three o'nwxn are set out together in 7Rk nwad under wp Rpn
i) 1wy ara X for yan is set out elsewhere

X"wAn at 7o "7

a)

b)

Rowp

i) We established that the x73 asked how to explain "Pwia5" for nos nneaw in nwH»
TR

i) Why didn’t the X2 ask the same x°wp for a similar ,o5 for 1709 nN°aw in &2 NwAd
First y17on

i) The x nx from the start intended to explain that the three o105 of w7p *Rapn In nw-»
TR were a group for the purpose of the fwn7 PXynw» ' °27 Xin

i) This is why the & nx preferred to ask its nywip from these three om0
iii) And
(1) Once the x7nx asked its xwp from 105 NN*2W iN AR NWHD
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(2) It no longer can ask a further x>wp from rod nn*aw in X2 NWID because we’ve
established that all a>p1o» that deal with one mx» count as one

¢) Second y1n
i) The xna prefers to ask its x*wp from nos nnoaw in Mk NwHs because

(1) in %2 nwno there’s an extra 1" that would have supported a y11°n of w191 o
"N2Y TN

(2) While the o5 in MRk nwns doesn’t have an extra 1™
d) xwp

1) There are two 2’05 in MR nw1o that deal with 720 nnoaw
(1) For the first there is no 1" that can be f°0% on WK Iy
(2) For the second there is a 1" that can be 7°01 on PwRA PIv

i) Now
(1) The & nx asked its xwp from the second 105 and was 7191 the X°wp by saying

R was needed to teach that we don’t say that PTWRY 11y HY 7201 1™

(2) When the x7n3 should better have asked its x*wp from the first 105 where the & n3
could not have been 7191 the X°wp by saying nwxan was needed to teach that we
don’t say that WX Py Hy 7501 1™

6) Twnn of the X
a) 7awn of Xan

i) ynnis Xn»MR7 MM0KR on 1™ starting a2yn?1 Myw wwn because of a T from vnwn &L
"smar a7 yan oy

ii) The details of this 715 aren’t relevant here
7) R"wannat prxc N2 yan1ann"T
a) anTpato the xowp of R"wann
1) "wnin X2 nwad combines the mwA7 of prx® 92 1an1 27 and X217 and says that:
(1) wxn here means the-day-before which is the w7 of prix» 22 yam1 29
(2) as proved by °nar a7 yan 5y vawn &2 which is the 7wn7 of X2

i) Presumably >”w1 means that prx> 12 a3 21 relies on the w7 of 21 to decide that
R

(1) doesn’t have its usual meaning of “first” as in the three a>oo of w7p Xpn in nwAs
mhlals

(2) and instead means the-day-before as in 79 2787 WX
b) xwp
i) If this is what >"wn means then
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(1) Since the 7wn7 of X211 is the reason that yam1 27 uses an unusual meaning for &
NP2WN PWRIT 012

(2) Why does the 3 ask that the three o>pioo wp ®pn and 2217 should also have
unusual meanings even though there is no nwn7 of 827 for the three o>p09 to
support this 7%mn

c) y™n

1) The xnx asked its n»wp to prxe 92 yam1 21 from the three o°pos before it was aware
of the nwa7 of Xan

i) X231 by his 7w97 intended to be 2w » these nywp
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07T
"7 nwp Ty 7ax TVNa T N Y7 17 20T Divn 2t Tn

TR YRR 1D KXY RPN J1OTWT RN PaAR "M 70 s awn 't 't [2 Ty 1 nT
N7 ANST RMOR RX7Y R PW9R 73007 MOKD 01 MR PRI 2oy "o TR R1wa NNl
RE297 YRRt 57 19 3P MR WIDRT INWASR DI M WINTH RIS R
TORD 70T 30 R RITOANT NP RN DAY 1AW MOKRY R TR RTINY IND2
PRWR RIM2Y RY INTIT 9 WOT IR ROR 10T N0 9N 7ANTNT RO X9R TInud

TP IR DR 2R DA W RN DERT JVRARKRY 0 XD KD 29007 7anun 19BN

"D MIRW 7R WATAD YD TR TMLEON IRBR KXY RIR RPTRT 90 0 "'y PaR 7''Na
RPN RZ2° ROR T2 33972 797 KD INR N7 25 IRD ORT R2ONRT RWIP R 'R 9''op
M1 RIPOYA 2MISYT IR MINTPD DAY IRUT AR PR PTIEAR DNY DR YT XN
TMORD NMRY NNW JPOIT RNWT DAR TOT RINOMA 921 1257 12 DapM PRTY 91D MRPT
MRS 2P JWYRRY KXY ROX JTR T XN D"Y MNTPD PPy 71aun Pase

DRy InIYRRRR

1) First nnipn
a) o°pod
i) D% DYaw 79123 952 MRW T2 AR KD (IR NwID
i) 72123 992 MIRW 77 AR R YA T2 AR KD (X2 NWOD:
iii) 03°N23 R¥M* XD KW 2 NYAWw
2) Second 7P
a) It’s 1anon to be more nann for ynan in o°na than in Po1as
3) xn»92as explained by *"wA according to X2
a) The 7% in "79123 902 xw 72 787 &Y" teaches for 179123 the X71p that
i) If you’re not n1*InK 22pn
i) "M 5wy 00nR YW AR ANR 22K ORI AR O 7w
b) 7017 1 MTPD Hap» PR N0
i) Mm% o0 that "0>°n22 k¥ XD KW o nyaw" to teach for @sna the xmn that
(1) it’s MoK to be nwvn and to be 1237 12 MINTPD 22PN
c) From a mw 91 of Mxw MRw we derive that
i) The xm of X¥n> &% on anvi and nnTps applies also P21a3a

i) The X7 of 7% 7R X% 0N °I0R %W 7817 70X 928 where there’s no N1 n72p applies
also o°n22

4) Twni of the xn»2
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5)

6)

7)

a) Since "72" appears in 72 87 &7 both in X2 nwao and in R nwoo
b) We derive also that:
i) The ®,p of "o iR Hw ax k" applies even to a \nw2sw 131 who is 7x¥na Jny 1w
e
a) We actually derive this X717 from the 105 of 022022 K¥»° XY MKW 2°»° NYaw
b) Because
i) the extra "7%" isn’t needed for 7% R
ii) and we’re 117w the extra "7>" onto X¥»° X7
maoin as explained by &"wann
a) Nwp

i)  Why does *"wn say the x91p from the second 7% for 7x7* &2 applies only if 7w to the
100 of X¥nY XY

i) Why isn’t the extra 72 enough as it stands in the oo of 72 87 &
b) y1n
i) Because

(1) I might have said that \nwasw »351 counts as 12 even where there was no n»ap
nrany

(2) And I"d have applied the X717 of the extra 7% to some other w7
ii) But
(1) Once we place the extra 72 in the p1oo of xx» &
(2) the mynwn of the word kx> teaches that
(a) Even where a »121 is »1xn because w2
(b) there’s no Mo°X unless there’s "72" meaning unless there was Ny KX n7ap
X"wann
a) Nwp

i) Once we need xx»> &7 to join with the extra 7% to teach that \nwaow is "mn where x5
NPINAR POV Ha%p

i) How can the &7nx also derive from the 12> of xx» X7 that manwi and nnTpo are oK
b) v n

1) We derive that m1nv: is mox not from any 2™

ii) But from the mynwn of x¥»> XY in the sense that yan that was 1av1 or 7po1 is still xxnI2
c) Now

i) Note this xwp by 1"
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(1) ®wp
(@) How does the xn»92 derive an Mo°x for 73w from Ren> X7
(b) Derive instead that 73av:7 is anwa from x> X5
(c) So that there is no X7 left to be 7123 Yw R Sw °nn
i) based on the yy°n of X"wnnn earlier this is no xwp
(1) Because the words xx»> &7 by their actual meaning include manwva and NP
8) Twnn of maoin
a) Nwp
i) now that >"wn has said that 137w the extra "12" to Xxn> 8

i) why is it necessary for the xn>12 to rely on a mw 77°1a to teach that the X7 of X 77w
7811 7nR applies also to o°na in the p1oo of R¥» XY

9) X"wann
a) ymn

i) It’s correct that we don’t need the X?p% mw 77°13 but we do need the mw 19013 anyway
to teach X127 that 7anv7 and TP are Mok also 1P7123a

i) Because
(1) Were the mw 1713 not to teach this xvan®

(2) We’d have said that the extra 72 isn’t °n and that it teaches that maavn and
MNP are '["71313 ann

(3) (in fact it’s for this potential 7% that the Xn>>12 in its X°nK& M7 says that &7 910"
MNP K2P7 PHLaY Mn)

(4) And

(@) Since 77 isn’t °nvn it wouldn’t be available for 7w to x¥»° X5 to teach that
INW2OW >121 IS N where there’s no NINR Nhap

iii) But
(1) Now that there is a mw 712
(2) We’re xmin? wnT that manws is Mok also P21aaa

(3) So "7%" is anrn and is available for 7w to RXx»> X to teach that \nwaow »o1is
an where there’s no nYAnNX N72p
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AqT
NIIDOX nna A" TN

17 23 9'"'5Y "2 N2 RIWIN NOOY ROIN 770 923 197 12 RN N2 a7 [R Ty a7
TS WRDR KPP RIS AND NAMT ANPT RN RATIT WHDAT VwDh ROUP RnNMan
S'"RY 722 NRT RITID WOISR AOOVT RUTT N7 19 MWINT 7002 RIND RIWOHH ;711022
TV 7771022 MRT O''YT KRR RITI2 ROINMT 0%WA WwADR NOO® navn and unpT 1N
SINPT T M523 '2%MT RITIR CINPT T NWINT NNV N NARINR 7T DD 12w

:5'"PY ROINR AN% N39OI RO AR V''WAIEHT 709V NN RITIA

1) First nnTpn
a) There’s no 7122 2vn for a 2 in which vk 51 7
2) Second TP
a) There’s no nn 211 for an 7o in which y¥nxa ™21 7
3) Third 7P
a) The X7 considers whether X1119% N2 and X119K NO°Y count as y¥nRa *121 7
4) Fourth mnpn
a) For x1m17% N2 it’s more 1anon that »101 7° counts as yxnka where 112 po07 *¥n kD"
5) X
a) v w of X327 on whether X118 N7 IS 771022 2R

6)

7)

8)

v 92 oy

%) K97 02
A pooY

XNT A2
112 phok

7700

na»n

Xnp X7

na»n

7700

7700

"NIRT RIOX

'R Rn72
a) "na»n"
b) The &n>>12 deals with ®1119% but doesn’t say w17°92 whether it deals with X119% nwaa
Rapfab}
a) 'XXN™O2 s a Xowp to Rp XL
b) Because
1) we assume '& &n*92 deals with x1n39% N2
i) and yet the Xn»92 says na»n
c) y™n
i) 'R &n»a deals with X118 N2 where 112 % P01 *¥n
e
a) Xwp
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1) The same x>wp applies for »nKRT XX
ii) And for »K7 R2°X it’s not a y171°n that the xn>12 deals with where "nra p70% *xn
iii) Since for *mRT X3°R @ R1MIIR NAA IS 710 even where *1ra 7% pHon 3N
b) yrn
1) "nRT XK say that ') xn>12 deals only with k119K nosy
9) Two additional mn»12 mentioned by n»oIin
a) 'aRn»™1says navn anne
b) "\ Xn>92 says nav»n ey
10) mooin as explained by X"wamn
a) First xwp to >"wn
1) 'axn°m2says outright that mmma is n2»n and can’t be said to deal with 70y

ii) This is a ®°wp to >mX7 X2°X Who say 172 is 7Mws in every case — even where 31 X?
712 Po0n

b) Second xwp to >"wA
1) 'x&n»92 says outright that that na»n now
i) So obviously a &n>»n2 that deals with 70°v is w-on that it deals with ooy
iii) And it follows that

(1) ') xn» 2 that is ono must teach that X1119x n»a is n2>»n and not that X1139% oY is
na»n

(2) So 'x xn>»"2is also a Xwp to MKT RI°R
C) y™n
i) "wa must hold that '2 Xn>92 and 'x Xn*92 aren’t Maw»nn
11) qwni of Mmoo as explained by R"wmn
a) 05D n°X are 0 in the X3 as in this table:

P DAY | %D RDT n02 X7 a2
T pooY 112 pho?

RLE) na»n Xnp RIW7

na»n RLE) RLE) MIART RN

7D na»n MIRRT NON

ORT ROD

270

b) Namely that
i) Xnp R and the k7 X2°R on the 17 and differ only in the w5 of 'k &n>1a
(1) xnp XL says 'R xn>>12 teaches that nnna is na»n if poob wn
(2) and »anx7 X2°K say '& xn»92 teaches that 702 is 77w when P05 *xn RS
C) "Mn™Ian nw mMawnn ar N
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1) Meaning that

(1) '2 xn>>12 that says &139K N2 is n2»n is naw n» because it can deal with where
T2 2909 XN

(2) '» ®n»92is also naw>>nn» because
(a) it correctly implies that 'k xn»92 that is ano in fact deals with X119 nnna

(b) and 'x xn>92 says na»n for Xxn19K N2 because it too deals with where >3
KaimRrilel)
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nai1? TN A"t

5" 5" oy "D 1190 X920 7799 NI ROD 277 15 RERY RO o 7w "o a2 Yo v '
T2 IR KD 2002772 RN NP KXY X9 79 25N I KD NN ROW MORT VWb
SIMRT 23 5P AR 15 K207 7790 NOR RDD 297 12021 NMRD RO 1WT 0D 190D T1MT
RO20 T ROIP KD NIMIOR 23 5P AR N2 Y9 7R N7 RINY ROT X2 IRDA 2R nvNN2

19" 7792 MR RN MORY PRT ARPT

1) mnpa
a) At 7% 2°n>7 own 13"7 on 1 a7 we established that

i) From the p109 of x> X2 we derive that there’s no Mok for *101 5w wan if the HRw»
isn’t nYANK Hapn

i) From the p10o of xxn> X2 we derive that there is an Mook for 21 5w 1xnn if the R is
nPINR Papn

2) Xn»™32
a) X7 KW
1) 2% PIPT PR ITO2 1PN D1DIW °1)
b) xw™
1) 2% PPt IR DK 17RO
C) N9°0
i) W22 PPt PR A YR T
d) xp»™M2aa0
1) "R¥nd KD MR
3) XM
a) ToRw
i) Does "xxn> X% mrw" explain the xw of the xn>»92 or the x9°0 of the xn»12
b) oo 27

i) "Ry XD mRw" supports the X that there needs to be 112 because n1anR 15y 520
since 193X 17°po1

€) °wx 21 according to *"wA
i) Xyn XS supports the &5°0 where n°2 1% 7> and teaches that
(1) There’s no My°2 21 even though the »331 wasn’t 7P by maow
(2) because the Sxw° said 7°19% 72w *1 and wasn’t N1PIAR 22pn
4) moon
a) Xwp on>"wn as explained by X"wann
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b)

c)

i) If suw of *"wn is correct that in the ¥9°0 the 17 is 9v2% P1p1 1R because there was no
MR nPap

ii) the xn»11 as explained for *wx 21 should have said that 2¥2% pp1 P& because of the
P09 of 7% nx R instead of the p10o of Rxn> &>

That’s why maoin prefers this 77nn:
i) In fact the x9°0 deals with where the %2> was n1nx 2apn
i1) and the xn»72 explains that there’s no My°2 21’1 because
(1) even though X°1p X% M77ow
(2) still to be 2n
(@) not only must there be nvanx n>ap
(b) but also — based on xx»> 8% — the n°2 must be " to the P& w»
(3) and where the H&7w° was n°a 1% 71> the n°a doesn’t count as YR Mxn
ToRY
i) Since &oo 21 says the words "xxn> X7 anxaw" apply to the
i) How does he explain how the xn>92 derives the 17 of the x50

d) 7awn as explained by X"wAin

1) X927 says that the xn>>12 relies on a 8720 to derives this 17
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M1 NIYN UK 179X "D UTh? IMyT A" T '

AR HMwann 201 Mo 70 92 MIRIWDY 1D oD MR MAR T 772 ''wna
1792 77977 KPR O3 RYT 770N 7271 112 NIRRT ROW 37 9 1HY 1290 WO KXW 1 by
SRTIT FIRTI 9P TN W'Y Do 12 N9 D22 1OY 217 RI1T 022 o pan i awab
951D YTIRWYT 2R PIPT PR NAD NPT PRWS 7''ORY 1122 PR ORTI 1D WA R MR
SRMIBR INDY INYT PR IRIRD 770 MTAT RN 97 3107 201 17 YovanT nven 1y
M271R2) 2% RWIT 9D WA MIOD NI MR NYTWDY AR PO 0D B''nT RYTI2
DU PN KD TODT PAYRRR APDTD HUaY KDY PRWDY XA P02 21PN IND PRI XMW
RITIT2 WY IRTD D2 2 70D M2 102D R2MWDY '72Y 72 KDY IPITA IRT2 92 KON
KPR N7 92 @59 PR DUaY KD KRR 2mnb X9 P72 2371 RITR NN 002 TRwYT
W2 "2 2ND T PIYDY I0SAD DR MOD A2 TID0 RAR WAMAD NN Buas aR Y9N

TR'NTY IR DA

1) xm
a) 1w of X2
1) X»wa R2Pm waont more than 30 days before mos
(1) 7w2% mpr PR if he doesn’t have in mind to return during 1o
(2) 2w2% mprif he does have in mind to return during ros
i1) K27 9MRT RYu? 8297 RTIN
(1) ov 2whw o7 127K XX 1N VW
(@) w2a% Py PR if ML YT PR
(b) wa% ppr if 1manh iy
i) ~"wA
(1) The 17 for 2xx that there’s no M2 211 if 17 1NYT PR
(2) Is similar to the 17 for n?1on "5 7701 that he need only be %van the ynn on 7" 5%
2) ""wvn

a) The case of x1»w" R¥PM 0°% waon deals with where the waon or R¥1 wasn’t Pvan the yon
when he was w191 or Xy

b) We’re wwin that
i) ifhe’s not P12 when he leaves
ii) he might see y»n when he returns on nos and be 22w on nx~° %2
3) 2"wann
a) Xwp

i) Since >"wA says that the waon or X¥1 hasn’t yet done 9102
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i) why would he not be %7 922 12w if he knows that there’s y»n in his house even if
he’s not here and even if he doesn’t see it

b) v
i) the X7m3 deals with where there’s only a poo that there’s yn in the house
il) other o'v7» of the y17°n aren’t relevant here
4) R"wan
a) y1°nto the xowp of H"wann on "wA
i) Partl

(1) The & nx deals also with where the person knows that it’s *&71 that he left y»r in
his house

(2) Still w25 ppr R where nooa Nm» YT PR
(a) Because we’ve established that the case counts like n9191 19y 17791
(b) And we rely on the person to be 1222 van at w2 a1
ii) Part2
(1) But the 7 is different for a person who plans to return on 1o

(2) Because we’re wwn that because of the x717v of returning from the o> or 7w the
person will be ywio and forget to be van at w2 a7

(3) Compare this to the x7na at :1 77 that explains that
() because yws xia27

(b) the onom were j1pnn to be van at mp>7a a1 at 7™% 7K and not at '7 nyw or oYW
' on the morning of 7"

iii) Part 3
(1) now
(@) If in fact he forgets to be Svan the ynn before 10K 11

(b) The ynri would no longer be in his nwA when he returns and he won’t be able
to be Svan it then

(c) So that he’ll be 22w on x¥»° 21 787 %2 unless he was pma the ynn before he
left

iv) Part 4

(1) When >"wn says that he’ll be ®x»° 721 787 22 121w when he returns and sees the
rnn

(2) *"wn means that he won’t be 121 unless he returns
b) xwp
i) For axw 12 nwy and 1Mok anyT
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i) he’s not 77w with returning from the o> or a 7w and there’s no reason to be wwin
that he might be w1 and forget to be van

iii) Why do we require np>72 beforehand

c) y™n
1) We’re wwnn that while he’s pow in being 7197 the yan he might eat the yan
i) Note that

(1) a person who’s o°» 11 Or R»wn» isn’t oW with ynn and there’s no wwn of Rnw
170K

(2) and that’s why for him R"w2nn needs to explain that we’re wwn that because of
his X770 he might be ywo and forget to be Svan
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T
11y N2 7ax 2" T XY TN 7aX YT D VY91 7D A'NIRT N2

©IDY HYon PIT ORR MRah wY RN 2nD "o v B9 A nhRT R [2 7wy 1 a7
59PN JWITT 2IWR W IR N0 ONT RIINT ROMT KUK 1D TR RN R RaL7
MR RIIY 7R BaR 7''72 '0WNT 12N0W 71 95 PPRYRWR NER PIRPTY WY AN TINa 'y
5"y 15 RRON2 2900 FUOP0T 23 DY AR 1D 2w wnT XOO9T RPIT NPT QTP 2TPNT
'D2 RO 9D WNINMY QTP PR VAR 1Y MIN2T WAST RINY TR ™I N w''n DN
RIIY 7772 1"'7 1w wIIWD 27 RWT PR WM 2''YT 01T ROINT W 10D 'D2) 2ITIpD
NPT 200272 ANSNT RIORT UINDY TP PRT W2 VAR 7 70 Do DIp0T NI
S"'PT "W 1OD DY 297IPD "D RO MMV N2 MIRAT V2 MRP 27T IRTIT O''YY 2vaNa
TIRT R AT R2WHT X297 1R RADYD RI207% 2019 19 MR 7UIN2 IINDY 27 PR
23 HY OR RIIY 72 DaN 7017 RDYDT K297 DR 2IPMINRT wISY DD 11T PRI "D 2TPm
R® DaR 77 RDIRT RPIT 97 "R D0 DIP0T RUWT 90 WNINGDY 2T PN 702 WIRRT
RITOI) TR PIV2 2U2MPRT VDY D922 117 190 MSNT ROURT RO RN20R R nbv

JP'1TY IRTIMNR 37 IAHD KI2027 RN

12 NIN2TT TNRT IWRY VIR [MIMN MIN2TT] A IR 1D Sy vana baR 77''72 'oIn
SIN2T ANWIR DY TR 1DRATY P'RD B''oY NIV TAD 2R MNATT NOWYT 2R 1N
w0 DT DY Nt o ' oI W DY 1D P17 PR YO "wnD 'aa uenT 1y
BaR WA I N WO P''OD P17 PRT 1Y AT IR PAYRWR "Mwnh har b''wenn
37 NI 77 DINIMNRI MWK N1N2T ONTIT mh TR N> 3717 DD 22 Y9IDN NIV TR2
ZP"W‘\
1) X
a) TP
i) P09 in"27P2 NYwID
(1) 271 PIND ONRYY NPIWT 1WA 3w WY TR TV DRI 210 12712 Awn HR 17 02T
i) P09 in Tn%vna nwns
(1) PR WA ... 10 727N AWN PR T 9277 200D TnbYna
b) 27 9nKR XD°%1N 72 X°WIN 29
1) 77IN2 MRM QTP PR NN NNT
C) X992

i) But 1y 712 it must be that a7 0717 "Ry because otherwise we couldn’t be w17
1191 993 since we couldn’t tell a v191 555 from a %51 v

il) It’s only *21v >7n2 that 7702 amxm 2721 PR and in fact °1>1v *ana there is no wn7 of
v 99

2) mooIN at X7 7ma Yax "7
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a) Nwp to k99 21
i) A oo in R T says for a Hpoi that 77° 770 R Hpo° 2P0
ii) Yet we change the 270 and say that the 17 takes place before the 77°p0
iii) So it must be that amx»1 7P 1) applies also to R1»1y 1
b) v
i) Even Xy T2
(1) there is no amxm o721 where there is a special agwy =T

(2) And for 77°po there is a avwy nwnT because "inm1 0°1a82 anbpor" teaches that a°po
must be closer in time to 1n°» than "7

il) But x1»1y 7172 where there is no avvy w7 we say o7pw 0797 *&» and that’s why
we’re 091 990 w7

3) 2"wnn
a) Nwp to x99 20
i) Why does &9 21

(1) decide for x1>1v 717 that o7 077 *8n because we need to be v191 %5 wnT for
X191y 71

(2) and say for *1»>1v »3n that "mx»1 7P PR because we can accept not be 993 w1
v91 for *1»1 *In

il) It’s more "anon to say for both x1»1y 717 and °11y 0 that amxx o7 1R applies only
where there is a 71217 that amRm 27P7 PR and wherever there is this n217 we’re not
¥I9Y K0 Wt

b) y1n
i) We are often w7 a v791 %95 in X171 717 even where
(1) the v %95 conflicts with a amm 9p
(2) and the =1 5p might be taken as a 217 that in these cases amx» 7P PR
ii) This proves that we don’t go nir237 N2
4) R"wan
a) Nwp

i) But the fact is that mooIn has established for X1y 71 that we do follow a 171217 that’s
derived from ayvy awa7

b) So it must be that this is the 7%mn of the xmx
i) Partl

(1) Whether x3»1v 712 we’re w7 a 0191 925 depends in each case on whether in that
case DTpP OTPIAT PR OF IMRM DTPMA TR
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(2) Whether x1»1y 712 we say 2721 27217 *Ra in turn depends on whether there is
vy nwaT

i) Part?2
(1) It’s more 72no» to say 77IN2 MR TP 7R for 211y 0 than for k11w 7
iii) Part 3
(1) mvw of ¥9°%1n 12 Xowan 27
(a) For riw-n

(i) Since it must be that the o°p109 in 9272 and Tn%yna are MR 277 PR
because *v 5w wTn can’t be before NWRAT WA

(if) We extend this x920% also to where there is no 1217

(b) For X33 1
(i) The moo of an%por is also a o7 that these oopI0D are IR D7PMA PR
(if) We also extend this 89287 to where there is no nn

(2) moow of x99 21

(a) xoo 21 agrees with &5°%1n 92 ®X*wan 21 for *171w 0

(b) xo9 27
(i) disagrees with ¥5°%mn 92 X*win 27 for X1 717

(c) Because he holds that for X121y 71 we don’t X7201 extend 2mIR®Y 0791 PR to
where there’s no 1217

iv) Part 4
(1) Note that
(a) x99 27 mentions v 555

(i) only to note that a result of saying amxm a7 P& for k11 717 would be
that there’s be no v91 975 also for x1»1w 717 the same as there’s no vIvY 975
for »1»1y »n

(ii) But this isn’t the basis of his npY%mn with X9°%rn 92 7w 29
5) —Twni of the X3 — the Rapon for ko5 29

RN TR PPN

QIPIT ORAT PIT | TP TRT AT PR 171y MM
DT NG

RDT PITT W0 QTPIAT ORAT PIT X1 7172
Q7P aTPMT TP

6) mooIn at "1 *Tna Hax "7
a) Nwp

i) the X7m3 in Xnp 822 combines a v 975 in MWK NM127 with a final 595 in a7
MmN
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i) Even though the two mn27 are in separate n1'w-o and presumably count as *1°1v 70
b) v n
1) The mn27 count as R1°1y 7171 because 1K1 TR 11272
7) X"wamn at 11y na var o'y

a) ”wn elsewhere says that what’s actually the same 1°1¥ doesn’t count as °1°1¥ >0 even if set
out in two nrwa»

b) So

i) the X773 in X1p 822 wouldn’t be a R°wp to *”wA even if the mn27 weren’t said in 2’7
NN

ii) because both mn27 deal with the same 11
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"7 "nyT A" TN

ROR 32 92 KD "' B'op abuab by onw by nyT BRI N0 Ny Ny a''a
TP M1 DT IRTY 'SMWD THY oW YN SNINT YRwn nnT ROR b by onw
92 ROR 592 7195Y o1 KD IRTIT RO '2IN7 279 79U Y nRown 99 70D ORMY Thuab

19"y 77oWaY AR DY OB 3R FINTS D22 M2 B2 R 1IRRT

1) mnpa
a) w2 counts as n*awn
b) That’s why
i) If a person is ynn Hvan before myw ww mo and later finds y»n in 2w av
ii) he’s not 12w on R 72
2) X7naas explained by *"wA
a) DUV TIX PTIT 27 MR AT 7MWK
b) xwp
1) Xnyw R
C) y™n
i) He might find 37170
d) xwp
i) Poaren’t 2°wn and were 1°Rn P02
e) yn
1) "2 SNy 790 RPO12A R¥NY RAw 7T
3) =0 of this 7m
a) ""wvn
i) We’re wwin that

(1) in 21 o1 he might find a X122 that’s not Y2°&» 502 and wait a ¥a1 before he’s
AW the Xpo1a

(2) And he’ll thereby be 121w on X¥»> 921 X 92
b) mooin

i) We’re wwin that he might find a xpo12a that’s 2w and that unlike P isn’t 503
PORN

4) Twni of the k.
a) Nwp
i) Then let the person be van the xpo173 as soon as he finds it
5) mooin
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b)

X*wp to *"w" as explained by R"wann
i) How can the xx in its final x'wp ask that we rely on 72
i) when
(1) since the x»x has already explained that we’re wwin that because ™2°y “ny7 he
might wait a ¥21 before no™w
(2) It’s a muwo that we’re w1 that he’ll wait a ¥a1 before 702
Note that for m»oin this isn’t a Xowp
i) Because for m»oin the X3 never said that we’re wwin that a person might wait a a0

ii) And the x7»3 understandably asks that we assume that the person will be van the
XiP0122 as soon as he finds it
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n72un71 niyw wwn a"1n

1D 'Y 1I0R T ON OYRDY MIPW wwn van o " nbann 1D hynh myw wwn '
R'"IRT N7 997 UTIDIND K2R KD PPAYRRAT 7' WD K92 PR IRR 900070 By
W MR "YU IR R1T IWIRD 2INDT IRWYY MWL WK MPR W YRt
T RDT VAP RITT DOWR 7ORUA 17 TD N7 KDT TP 13207 KUK 0T KD W nhnnnT
TR'ITY R IIDR NI ININ2 IR THYRDY MY W RRPT N7 2"V KPR N2

1) X
a) "™M7°Y PNYTI 9 RPOI?A RYNY RAW 7707 P02W IR PN
b) xwp
i) "“H0a% "% nnown o
c) y™n
i) 22027 °¥n XD RPMP MIWI2 XD RNIDK N2 VD NNown X197
i) 729121 MIYW wwn Pun..anwna PR 00127 CIw TYOR 1"RT
d) xwp
i) vaIxa “Huan
e) yn
i) 175027 R YWD R1DPT AT RNWO JAT IRDY RIT RIIOOK A7 W97 12
f) xwp
i) nwa "“Sva°1 meaning at n>w nonn
g) vn
1) 0an %n KD L. MW 13277 RMNDORT 1%
i) 299K ..57°2 27 MRT
i) PWITR? PRV PR RDPTNP 2012 120K T90RD MR wwn wIpnn
2) "wn
a) When 573 21 refers to 75vn?1 myw ww he means ww n°rinn when the 7oK is 11217 only
b) The x7nx relies on the x7m°n of 9773 27 to show that
i) Just as ynn can’t after ww n%nn isn’t in a person’s N to use as PR because it’s
then 11297 7oK
ii) ynnthen also isn’t in a person’s mw~ for the purposes of 72
3) mooin
a) Xwptoo"wn

i) The words sop»® mpw ww prove that 77°3 21 means ww 70 when the 0°K is Xn*IXT

i) Here’s proof:
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(1) At :7 77 the X1 says
(@) "0R mhYRDY MW wwn yan Ron Rnhy 09107"
(b) and the & mx derives this 17 from o715 that are 8n»TI8T
4) X"wan
a) Further n»wp to *"wn
i) First xwp

(1) rvox " himself also uses the words mbpna®y mpw 2w in his X2 in our X3
0N 0°127 "W

(2) and he must mean ww 7101 because he says 210257 JRw
ii) second x°wp
(1) if 2rvox " had meant y»r is not in a person’s mwA starting ww n?nnn
(2) how can the & nx later ask that there be 51°2 at ww nonn
5) nmoon qwnn
a) Nwp
i) If the 7w w of m»doIn is correct that 7°3 279 means ww 10

i) What &1 does the X3 bring from %73 21 that there can’t be 712 for yian that’s Mox
11297

b) yn
i) The &7 is from xn*177p *vn that are 7o only 131277 even at ww 710
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T1qT
'12 Awyn niyni '710 NIYN N2 IYNNWIY (12D y'an 'na

1D PTIRX PMRX I W MR PUIT NIPR 72 WwRnwIw 1o A s R 7y 1 a7
N2 T IRMY PR MO 2T N 212 772 RN 37D MWD XD FIRMY PR 92 DY
WOPNOW OB 2T 2D 7R MBRY TI7 PRT 2''97 X217 N2 JPVINT NMR MOV M N

TR TIRY TR Y% 1292 RRPIRD TINT o9 noDT TP

1) X
@) 27 MK R 27 72 720 MR
1) Ifinan2°nthere is nwoyw no
il) N7 a¥n an2Ww
b) Apparently "7xn naaw 103" means that
i) If in the 72°n there was more mwnnwi with 7%» than with yan
i) We go 21 1na
c) Nwp
i) Even without this 217
i) The 17 should be nanin because
(1) for reasons whose details aren’t relevant here
(2) it’s 1anon that the 72°n was used last for 7%» and we go &1na ana
d) ynin the xipon of the X
i) In fact the 7 is nann because we go 8702 Tna

i) When 217 said "namn 7%n 1029w 103" he means "nxn o 127w namely that many days
passed after oo — enough for nxn to become wown

2) XnUM2
a) wYn MyE PN MY 72 WRnwIw 7200
b) =wyn 27 oKX P 2N OR
3) X
a) Nwp
1) why don’t we go X702 02 instead of nwawvn 217 N2
b) v n
1) We go myavn 211 7n2 because there is no & na
ii) both P2 myn and awyn myn were used at the same time
C) oRw
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i) How would a person us awyn myn and 1211 nmwn out of a 72°n at the same time
d) mawn
1) They were separated in 12’
e) TORW
i) Then why is there a 7%xw about any of the coins
f) mawn
1) The coins that are ppo1a aren’t in any of the 112°%
4) R"wan
a) Nwp
i) Why doesn’t the &7n3x use the same 77mn for woyw no
i) Namely
(1) Say that we don’t go X702 7na because there is no X na

(2) both 17n and ynr were placed in the 72°n at the same time and were separated in
NN

(3) The nwoww no is in neither pile

(4) And "8 027w 102" means we decide the n2°n is nanmn if 211 of the o°no in the
piles were 17x¥n

b) yn
i) It’s unusual to bake 1% so early before nos that some of the nx» is wovnn quickly

i) So we’d be forced anyway to say that in this special case "7%» °n° 127" many days
passed after oo — enough for the nx» to become wown

iii) now that we need to anyway say 1% ° 12
(1) it’s less pr172a to say that
(@) ¥n an27w 1o means only that fx» °»° 127 and we go X102 Tna
(2) Than it is to say that
(a) Besides mxn on 121
(b) we also need to rely on a°n» 211 in the 72°n
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7V "D DT RADSD MR INWT POINT KL TNDT 1D 72 e vk 1''72 msoIn
BOT7 M5AT7 RAVDD WMNN TIADY PRI MDA DA PAPDT ORI WY LIMT H'M mwh IND
PRY POITD OINTY AT DUawa hapw NI MWYR MYRT PR QT WY PRI BT
2779 PIRT 21157 192N WY RUATW WYR QTR NN VDM WY WA DM RPOINRT MR
12927 IR IPYPR PRI IR NYAMAN AT WVIT T PR TIRIY 7 NOR MR 2mwa nhnd
RY 9721 PRRWT MYK 2R QAR 29927 2M2 NIPY Raw 29MN MIYRa PnRD 19 T ORT
NI PAPDT TR IPAPW NIYRT RYR 1T KD M2 3900 a8 K17 2R Wwyn 121 1N
SP'1NTY NIAMTR DR MY RAT YT NI RN DA WYR 1A 1T b 19 19T PRInh

1) xama
a) Wyn 02WY 7172 "m0 2157 WP MYn
2) "MK by "wn
a) o°nP2 use mostly awyn myn to buy nnaa for bW in oHw
b) Once the o°np1> pay the myn to nnaa »om the myn becomes 170
c) It follows that
i) If myn are found a2 Mo *07
(1) If they were dropped by o°np17 they’re 2wyn
(2) If they were dropped by oo they’re 111
d) The poo is nxnn Yy nxnn and X172 XIOK PO
3) mooin
a) Nwp
i) There is a xvwn of 19 mwn that oon> use to buy ninna for oonow

ii) add that to the nxnn of qwyn mvn that became 12117 after they were paid to o121 and
the result is that 217 is 791 mvn

4) R"wan
a) Nwp to Mmoo
i) ao™MomT Rvw M also have 1w wyn myn
ii) So>"wn is right that the poo is nxnn Sy nxnn
b) y»n
i) xwp

(1) Why doesn’t *"wn take into account my» that o°n1? bring to buy things other than
mnna

i) yrn
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(1) Must be that in considering "2 >3m0 192 W¥nw Myn" we take into account
only myn that were brought to this pyw to buy nnna

(2) It follows that we don’t take into account any *1w “wyv» Myn that a 151w may have
brought to the pw

(3) Because a 721 who has minia to sell wouldn’t bring any myn to the pw to buy
more N2
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1) First nnipn

a) MWL N2W 10V Than MEnn 9o
2) Second nnTpi

a) &59 17 and oo 21 both agree that ">1m%" refers xa7% to a n°72 that’s about to happen

b) X951 says "n i Hy" also refers X277 to a n*1a that’s about to happen

C) °oo 27 says "a7ona Py refers n2yws to a n>2 that already happened
3) Third fn7pi

a) For a o972 that’s made 1n»wy? 72w it’s preferable to make a 7572 that refers to x27%
4) Fourth mnpn

a) For o211

i) a%mn who is the 1217 *ax must say ">1m%" because only a 1w? that’s X277% recognizes
that the 5mn was 211 to do the 791

ii) a2mn who isn’t the 1277 *ax

(1) is forced to say n>°ni1 %y even though 1%°n7 %v isn’t X275 WY and isn’t the
preferred Nw?

(2) because he personally wasn’t 211 to do the 7%5»
5) Fifth mnpi
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a) For xoo 27 every M —whether or not he’s the 1277 %2k — is 772117 Hv 71272 because 797n By
counts as X277 and there’s no preference to say ?m%

b) The xipon of the & nx agrees with x5 27
6) xn»2
a) A 5mn who is 213 nXR 91 says n°
7) mooin
a) This is a muws for *55 21 because 55 27 says
i) Except where the %7 isn’t 217 to do the 79
ii) it’s preferable to use 71m% because only 2117 is a X275 nw»
iii) and 0>73 nX 917 is 271nn to do the 7% the same as a M who is 1217 "ax
8) X"wnnn at a0 X9 "7
a) Nwp
1) For x95 21 and for the xipon that agrees with 95 27

i) Why is the 17 for o> nx 9 different from the 127 of a %7 who is 3277 *2x where
we’ve established that the 71972 is 7207 v

b) y1n
i) ndMaaavv v
i) See m»doin at knao>m "7
9) moown at wava "y
a) ToRw
i) When does 1271 *a& make the ;7572 of "1°ax o79ax 5w 10122 10°1575"
b) nawn
1) X72awn says 1271 *ax makes this 7572 before the n°1a for two reasons
(1) first reason
(@) 01014 is in the same format as 717 and so it also refers to X217

(b) and to avoid a mynwn of 2pw it follows that the 1271 °ax needs to make the 1512
before the n>72

(2) Second reason
(@ All m>on2 are made jn>»wy 12w in advance

il) an 27 says 127 28 makes the 11572 after the n°12 and he’s 7797 the n1xn of X"awn
this way:

(1) There is no apw mynwn because the Xa7% tense is a maw to 7"apn for being nmxn us
on 1791 not only for this p1°n but also for mp1n in the future
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(2) 1n»wy? 22w doesn’t apply to this 1572 where the 7727 isn’t the %mn who does the
mxn

10) X"wonn at qwava "7
a) Ww"X" agrees with on 11021 that the 3277 28 makes the 11572 after the n1a
b) and adds that
i) the yy°n of on 11020 to the first mavw of X"awn

(1) that there’s no pw mynwn because the 115721 is a maw to 7"ap:a for being nMxn us
on 12°n not only for this m°n but also for mpwen in the future

il) is also yann the second mvv of R"awA

(1) Namely the 1972 counts as 10wy 121w because the 7572 is a maw to 7"2p: also for
mpien in the future

c) Nwp

i) Why in fact doesn’t an 121 follow this 7% to respond to the second mvw of X"awA
d) y»n

1) oniransays that

(1) It’s true that 10°15:7% has no jpw mynwn because the 7272 also refers to 771 in the
future

(2) But

(a) the fact remains that 7271 *ax would not be making the ;71372 now were his 32 not
being 911 now

(b) so the reference also to 72°» in the future isn’t enough to take away the
requirement that the 7512 must be made jn»wy5 22w

ii) and this is why an 1021 needs to explain that the 1>7 of 1n»wy% 721w doesn’t apply to ax
if he’s not mn himself

e) noRw
i) What would on 11021 say if 3271 *ax does do the 79 himself
ii) Should 1277 *ax make the 71572 before the n°12 so that the 7372 is 1n»wyH 12w
f) nawn
i) 7327 2199 XY regarding jn>wy? 12w
ii) Similar to 7%°2v where mpoIn at 7%°2v0 Yy 77 0n "2 TNy
(1) isn’t P2 between

(@) n%°2v of a 73 who can’t make a 77972 that’s 1n»wy% 121w before 7%°2v while he’s
still a 721

(b) And o°w1 who can make the 17572 before 7%°2v
(2) And holds that both are 772an only after 7%°av
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9)

h)

Xowp

i) We’ve seen that at :1 77 the X3 for *99 27 in the XX M is ponn and says that
(1) a%mn who isn’t 127 °2R says 7?70 oy
(2) While a 5mn who is 1271 °2x says ?2m?

77N

i) %9 X applies only on the 17 of Jn>»wys 12w for a 7072

i) not to the now of the 7072
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1) X
a) The 1372 for 71972 of a 73 isn’t made require 1N°wWY? 72 because *1m X% X723 N
2) mooin — avw of >

a) we’re not P2 and owi also aren’t 1»wyH 121Y T72n even though they’re X1 to
make a 11972 that’s Jn>wy? 12w

b) the same applies to o>71> N1
i) we’re not p7nn between
(1) o> n% w1 for 7%°ox where the x123 is 1 before the 7702
(2) And o°7> n%>ua for X037 n°2 where the X123 isn’t *m1 before the 7501
ii) And aren’t 1n»wy% 72w 7127 in either case
3) X"wann
a) Nwp
i) Why doesn’t the X3 mention that o>7> n%°v1 is an exception the same as n%°2v
b) Two ox1°n
i) First yon
(1) The same oy - °m K7 X123 °naX - applies to 27> n?°v1 the same as 722y
(2) And that’s why there’s no need to mention both
i) Second y»°n

(1) o7 nPv1is similar to 7%°2v because mpn My wa 0°7° N9°20 counts as NI
okl
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